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e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of which one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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1. e Frate H % A v EEA E 0 1

What are the two types of intensive subsistence agriculture ?

2.  3ThII o [T oW | Ha8 99T 1 I & ? 1

Which country has the largest rail network in Africa ?

3.  WRA % Tl Q1 TR & W fofen, fome qoa: o™ - 7RI % €9 § 53T

% l i-}-i:]
2 2

Name any two towns of India, initially developed as mining towns.

4. 39 A F § A I Ul hl GURA H fohT YR Heg L Thd @ ? 1

How can you help in improving the quality of water in your locality ?

5.  THmER® Td Wifds quiemt & SgR W @isi 1 e Hifw | é+i:

Classify minerals on the basis of chemical and physical properties.

6.  sfeu el 98 A &7 1 I < gHiaeiiy et hl Wy hivu | 1

Examine the twin environmental problems that have emerged in the

‘Indira Gandhi Canal Command Area’.

7. ufved URen 4 @ glawnsdl w1 @98 w0 fohm @ g 8 ? Th hRU W
HIT | 1

Why is West Asia the least developed in rail facilities ? Explain one

reason.

8.  “fruenl U e Ud fohHen! TR, 39 W i3 U Ad 7ol & |7 e Avevet i
TRITT A §U 39 HH h foReiyor HifT | 3

“There is no consensus on what exactly defines a village or a town.”
Analyse the statement by using different criteria.
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10.

11.
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TER H FN-aTid e i foheal 7 fomiwarett 1 avi ifse | 3x1=3

Describe any three characteristics of agro-based industries in the world.

“Uepfd TR TGH HAAT 7 IR WG ITehT ITAN HAd & qdT dR-eR TR @
AR 81 ST 8 q9T Johfd W HHa S48l hl B9 94 Tl & |7 39 e
&1 siife foag il | 3
“Nature provides opportunities and humans make use of these and slowly
nature gets humanised and starts bearing the imprints of human

endeavour.” Justify the statement.

fr= feu U w1 TerE KT R 3F = few T gl & S fifew ¢ 3x7=3

T WA

(11.1) SR feu U e 993 6l yga hifve 3 39 9m fafgu | 38
s fopg Tog  fedg @ 2

(11.2) 39 389G §9F @ foT¢ wifth 1 J&F @i &1 ¢ ? 39 G939 hl HiA-Al
T qitEed 1 giadm JgE LT 8 2

(11.3) 39 3E91d T3 o [T A18-37IEh TAT I & F&I Eid -4 g ?
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Study the diagram given below and answer the questions that follow :

Steel Plant

Bilaspur
Balaghat

Mahanadi River

Steel Plant
Dolomite

*
ES
k¢ Manganese

Iron-Ore
Eex]  Coal

Iron
- Railway

sy

.'/J Tandula

Tank

(11.1) Identify and name the steel plant given above. In which State is

this plant located ?

(11.2) Which is the main source of power for this steel plant ? Which

rail route provides transport facilities to this plant ?

(11.3) What are the major sources of iron-ore and water for this steel

plant ?

HETCTRGT 597 @aeT givanfaa ademaEal & 1o7g, 397 a&r 11 & €M

wWE:

The following question is for the Visually Impaired Candidates

only, in lieu of Q. No. 11 :

TSI H 1T AR N ST I hl T % g Ieerh fdl diF e

TR shl ST <HIFIY |

3x1=3

Explain any three major factors responsible for the establishment of Tata

Iron and Steel industry in Jamshedpur.

5
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12.
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= feu o At w1 aagrigEs st hifde o 3us R for e ge %

I fafan .

1+2=3

-:-:-Iafﬂ'ﬁ

—— a1 9t i T

Tt 50

50 it

(12.1) AR 8 fe@s 18 98t ) yg=e e 3t 3gen 9 fafgu |
(12.2) 39 T8 i iz ar fazmand fafgu |



Study the map given below carefully and answer the questions that
follow :

Bilbeis
e SHIP CANAL Wl
acmcm RAILWAYS
—— FRESHWATER CANAL

KM 5l0 (i) SIO KM

(12.1) Identify and name the canal shown in the map.

(12.2) Write any four characteristics of this canal.
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Fig:  [HElciiga g9 S gieanad wheierEn & 070, 397 &I 12 & T WE -

Note: The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 12 :

-G T8 QY HEMEFR] ! Sisd! 2 2 39 T8 I fohgl 9r famiwaret &1 3g@
I | 1+2=3

Which canal connects two oceans ? Write any four characteristics of that
canal.

13. “9Rd T Sgdl g3 e IR Ak R % gR S o AUy IWAM A
S <1 T[S i Tgd HE™T B |7 S i A i SHIC W@ H HGG Y Hebel
aTel Hedl shl ST hHIT | 3
“Indiscriminate use of water by increasing population and industrial
expansion has led to degradation of the water quality considerably in
India.” Explain the values that can help in maintaining the quality of
water.

14, HUGUE AR TUET h YR W IR o TG i g AN H afiehd T |
T ot Sl Feheel gt fomrwareti <t smen HifT | 1+4=5

Classify means of communication on the basis of scale and quality into
two categories. Explain any two characteristics of each category.

15. #H4 foeem 9 w1 i 2 2 1fld e fash™ TRt & 3TUR W esn skl =R
gugl | afiehd SHIFT | e THE <l Teh-Ush foIRINal sl TOsC HINT | 142+42=5

What is meant by human development ? Classify countries into four

groups on the basis of the human development scores earned by them.
Explain one feature of each group.

16. “oMYgfeh THY H FaUP AR fava srefeuaee #1 YR & |7 I Aigd
39 HUH hI gE HIT | 5x1=5

“In modern times international trade is the basis of the world economy.”
Support the statement with examples.

17. Yarg fora YR foreft & W 3raeil o THH forawor o1 UeIe 8 ? WRd | Jad
% Tffeh INUTHT <hl ST hifg | 2+3=5

How is migration a response to the uneven distribution of opportunities
over a space ? Explain the economic consequences of migration in India.
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18.

19.

20.

21.

64/2

Sl o U AT Fdl b1 Hewd U IETEU Higd TS hIfrg |

5x1=5

Explain the importance of five non-conventional sources of energy with

suitable examples.

TR % Mg 3w fah o Ta1 &=k 1 |redeal R ghg w1 favemm
HIT |

Analyse the significance and growth of service sector in the modern

economic development of the world.

qRa i 78 Mefies ifd, 1991 % fohrgl IR T&F 3eWT &1 3Ig@ HIWT | &
3ewdl <l wifed & Jvelientor it ftrepr 1 guia HfT |

Mention any four major objectives of the New Industrial Policy, 1991 of

India. Describe the role of globalisation in achieving these objectives.

243=5

TaR & fqu T ueHifos W@AmEE (98 13 W), ¥ f@m T odta vt
@I A, B, C, D 31 E <hl gg== hifvu 3K 39 g am F=fafga st

<1 Aige © 39k I Wil 78 W@ren W i

A. ST FI &% I g TH §e1 o0
fateT oew &1 U vgE &

C. ‘URuEIE et @ 1faw wwH

D. T% Y@ 94190+

E. T AUy ag-uad

5x1=5

Identify the five geographical features shown on the given political
outline map of the World (on page 13) as A, B, C, D and E and write
their correct names on the lines marked near them with the help of the
following information :

A.

| o QW

A large country of Africa in terms of area

A major area of subsistence gathering

The terminal station of a “Transcontinental Railway’
A major seaport

An international airport
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22,
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el v7 @acr gieanea ahenfee & fog, 397 G 21 & T
WE:
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

(21.1)
(21.2)
(21.3)
(21.4)
(21.5)

TSI < &Fhel hl GE & Teh I o &1 AW faRan |

FER o fopdll T Y@ Fated guger & w1 AW fofen |
IR-ATEEEH e & et ue eifcm weem &1 am fafen |
I TRt o foreft v @ agd-uaH 1 AW fafe |
gfequr iRt & foreft weh Stauigir arg-ue = I fafau |

Name a large country of Africa in terms of area.

Name any one major area of subsistence gathering in the world.
Name any one terminal station of Trans-Siberian Railway.
Name any one major seaport of North America.

Name any one international airport of South America.

5x1=5

aRa % U MU T Eamt (98 15 W), # Frefafea ason w1 swgw

(22.1)
(22.2)
(22.3)
(22.4)
(22.5)

2011 1 FUAT & IR T Tfeh FEEAT THca aTeT T
EICKIEIRC IR IEE R ER |

TeNTd | fErd AfeeeRR Feifieht areh

anfesn § oo st 1 I9@ @M

dfe g | e STauig arg-aad

bx1=5

Locate and label the following features with appropriate symbols on the
given political outline map of India (on page 15) :

(22.1)

(22.2)
(22.3)
(22.4)
(22.5)

The state having the highest density of population according to

Census 2011

The leading rice producing state

The software technology park located in Gujarat
The major coal field located in Odisha

An international airport located in Tamil Nadu
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Fig:  [AEliiagd 397 e gIRETad et & o, 397 G&IT 22 @ T W
Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) 2011 T STUET % FATIR YRA HT HH-G1 ToT Fd TMqh FHEEA
e T 8 ?

(22.2) YA o1 HH-AT TSI I T UV TGS 2 2

(22.3) oA H e Wit WEfieht ureh o1 AW foifau |

(22.4) onfean # feora yg@ e &= @1 am fafau |

(22.5) YA ATg H FEod Teh AaUg I-acH w1 A fafE | 5x1=5

(22.1) Which state of India has the highest density of population
according to Census 2011 ?

(22.2) Which state of India is the leading rice producer ?

(22.3) Name the software technology park located in Gujarat.
(22.4) Name the major coal field located in Odisha.

(22.5) Name an international airport located in Tamil Nadu.
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THE. 21h fom For question no. 21
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I E. 22 % fow For question no. 22

U T {T-AHR (TS TR )
Outline Map of India (Political)
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